| fw AV Y

j—
\ \c«‘) A(é -2) B4, 1)

| )C\rw)ol,«ané ARz 1--2 - -3 ()
| w—06 -

\\‘) (Y\‘L = %
L, = D«l = Z (oc-a)
S’évl — 2o¢ =S
3,—A +$T=0O

)

| L__L B .
L\ ) => 3(_ % -22=0
S H
- 2( XD-+2’L) +5 =0
‘ 3\)#?)»@(4 +y O
| “I30~ 3a=0
| s = TS D= F42T
J
o “T2urecd
| = -2
— C(”z/’S)
| W) O, +2¢. = r—"% TP :@fjﬁ
T I = , <
=2 =4 Qs
(2
Conelbipn b =R73)
H\) Af‘ )Uﬂjl: Lb(/AB )(ru)c/gC.



M)c/ AR = /(L o) " (z~n)

= JG +4a
I
- VI3

Wk BC = J&@}(‘L@)*
= J 36 +16

Ar A = N1z alst - JEad03 -3

—_—
2 Zz

2z 5 3 — [+ GJa -ady +ahy - 57

=09 -FJy +10

i - 5
= 8- FJir
7

=G -Is

Y

- iQOf‘c;’ + Qo )
NS R

‘(23/ ~205 " Lo

bt ) P(z,] 1)

e
= :_%_@’ r (= \C)’fcldéx\'@\‘/:)ﬁf\‘% Xz
o ¢ (

‘ = —%0C .3 z 3 icﬂfj;ac/)

0&%»10&«‘%6 Wormae )= — —



Ho«pcxln'&?c/ Normal

._Ji = M CX*‘Xa)
— ‘} - -/l3 (‘)( "Z)

O
)
3(3-—7) =X+
3Q~2,) - -xX +T

R,30¢=2Yy =0

J

G D¢ )60 TH36

— KDC + O 5)"-5 2436 —0€G (D(~o,§) o oy Af-léu( ‘:%
(et o)t -2y . - -

| O P46 -2¢36 =0
| (c+o-®)-25 =0
(oo 2)" = 25
H+OY = r s
X = ¥ S—of e =Y —o &
- 4” X Nen -5-8

S ) (V)7 = (% 50)vE w10 - o0d
L g(i)c,’c?(f v Je © R
=] + SVe + 6O + éO\rg,,f 150 + 36(@

= QAL | + IOIV[Z,

L) (143)" = 1 = n(3x) + nln-)E>0)"

|
|
|
1 Z.
i

1 OU o N (-1 ) X 6136 e =D C(n'l— =% qs5—
| 2. 2
i

An*~94 = 4490 = q
nN=n ~iioc =o
(v\~\\)(r\ Flo) =o
N=1| . n=-10




6; (QK—S),')("‘ I YAk y3 = O o= 243
| C=+c+3
bt tear €60
g - G(2x-3)(2xcry) <O
6G - (™ -4) <o
| 6L — itk T+ 36 <
OO0 - bt O G -©
} ~3AY + et >0
bt ™S 2y
Kt 620
W< D Qe
K225 e IK<-2-5
7 ayy = F(=3) G
\
3
\ \\
el 10,0
b) 9* F(-25¢ |
; ) (=25 )
5’?0\) Y = Fx v = Goc - 3 -
| -)1) a,..\ 7‘(361—1\) ’6()(4—() 2“"(79( 'S)
‘(j:)(, K0 [,\
TQ«A J( iG xh +4/~/ 6/ Gl\-l/ 1;/ Ry +?£
‘ h~>o

= Wi~ l@x%+7l\7‘-él/

} Do /L(
R N )O«X ¥ 7»1'\ "C
h o

| Poa b h>o ,,OI,:\/ ~ 14x -6
| o



b = ng "'&Q’DC ;__ll_
) -f(,— 7
i C
L -1
o!:) - Qa3 L iR
% 3
= Cf(ai’lb'_,,‘)’g__
3 o
3 ‘ L4 7
Pk x= 64 Galéu)? v 12z = 1L
= KT
3 ¥ =
l6g ~ 1 -3
3 & -
16 = &
>
16a = 12
G = 1Z = 3—
Te R

| a) Q\DC,3+\33¢"'"IOJL_,’RQ

FE3) =-23a + HIF +30-24
=7 F el L
oa=-167¢C

a = g

b) G»t + 130 =10 -2U = O
7&0
F( ') # 0o
f(z) #o0
f(2) =0 o

-—

=39



|

‘ (x,*&)@);xl ¥oC -)L}IO C"\&« &l W(}l)))
| ('x + 2)(bx L+"174~’f:c -2 Jz0 ‘tl-’iql

G)-7)
()(+2)(3_X(Z)¢+3) Q(Dc+3)) &5 )

(3(‘*2)(5)(» G )(Ax+3) =

1 X=~2 e =& rt S =5
) pa

= —Ao 2 AU T — I + 5

p(«DJ\ (M(‘A C%/‘Z\Uoo] ﬁ/"

he
C')OO -G T +2Goe ~1Y =0 CZ/ "é)
xX*F*—4Gx +3 =C
| Cox-3 )~ 1)=0
w X =3 e oc= |

=5 5=
Q_g, =1+ =3 df =—-12 <o mag
che dx *

\
W %
; | T B meo

, ‘Crfacl

i G}”}) "’H"\
L/C) ~Ax >Nt VT Y =

|

}

t 1
______;i,__.(_

'tg/))

\ . ‘ én’jw(,u@,\ A -3 <K< s
{ _{/& - _ _ r‘)’\w\:) =Y &Y

’&

ot Ag.,/’.‘——z.al: —

A

o=l dy 21250 mn



